## CM2023/10/11

Wednesday, October 11, 2023 9:47 AM



One way is to form Q matrix and do the coordinate transformation rule





Positive definite tensors: Background discussion

$$u.Tu = u.(94nT + skewT)u \qquad symT = \frac{T+T^{t}}{2}$$

$$= u.SymTu + u.oskewTu \qquad skewT = T-T^{t}$$

$$= u; (94mT)_{ij} u_{j} + u_{i} (8kewT)_{ij} u_{j}$$

$$= u; (94mT)_{ij} u_{j} + u_{i} (8kewT)_{ij} u_{j}$$

$$= -(e^{1ewT})_{ii}$$

Skew part of T does not contribute to u.Tu

Positive or positive-definite tensor:



Because of (1) we only need to check positive-definiteness for the symmetric part of T Examples:

For symmetric matrices we can diagonalize them and express them in their eigen-value (principal) direction.

$$T_{u}^{T} = \begin{bmatrix} 5 & 0 \\ 0 & 0 \end{bmatrix}_{\frac{1}{2} \ge 0}^{T}$$

$$(W \circ T_{u}^{0}) = \begin{bmatrix} u_{1}^{0} \end{bmatrix} \begin{bmatrix} \lambda_{1} & 0 \end{bmatrix} \begin{bmatrix} u_{1}^{0} \\ u_{2}^{0} \end{bmatrix} \begin{bmatrix} \lambda_{1} & 0 \end{bmatrix} \begin{bmatrix} u_{1}^{0} \\ u_{2}^{0} \end{bmatrix} \begin{bmatrix} \lambda_{1} & 0 \end{bmatrix} \begin{bmatrix} u_{1}^{0} \\ u_{2}^{0} \end{bmatrix} \begin{bmatrix} \lambda_{1} & 0 \end{bmatrix} \begin{bmatrix} u_{1}^{0} \\ u_{2}^{0} \end{bmatrix} \begin{bmatrix} \lambda_{1} & 0 \end{bmatrix} \begin{bmatrix} u_{1}^{0} \\ u_{2}^{0} \end{bmatrix} \begin{bmatrix} 0 & \lambda_{2} \end{bmatrix} \begin{bmatrix} u_{2}^{0} \\ u_{2}^{0} \end{bmatrix} \begin{bmatrix} 0 & \lambda_{2} \end{bmatrix} \begin{bmatrix} u_{2}^{0} \\ u_{2}^{0} \end{bmatrix} \begin{bmatrix} 0 & \lambda_{2} \end{bmatrix} \begin{bmatrix} 0 \\ u_{2}^{0} \end{bmatrix} \begin{bmatrix} 0 & \lambda_{2} \end{bmatrix} \begin{bmatrix} 0 \\ u_{2}^{0} \end{bmatrix} \begin{bmatrix} 0 \\ u_{2}^{0}$$

ME536 Page 3

$$T = \begin{bmatrix} 5 & 0 \\ 0 & -5 \end{bmatrix} \qquad \text{w. Th} = 5 (u_1)^2 - 3(u_2)^2$$

$$W = \begin{bmatrix} 0 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 0 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 0 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \qquad \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \le h^2)^2$$

$$W = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \qquad \text{w. Th} = -3 (0 \ \text{hol} \qquad p \$$

Side note: positive (definite) matrices define norms or semi-norms:

positive	T >O	1/ ully = Ju. Th	20 mi -narm
pos. det	t > 0	Jully = Jully	Nor m

Idea:

3

One way to create a positive(definite) tensor

Assume F is a second order tensor. Then  $F^{t}F$  is a positive tensor and it's a positive definite tensor if det F $\neq$ 0

 $C = F^{t}F$ 

$$C = F^{T}F$$

$$u \cdot Cv = u \circ F^{T}Fu = u \cdot F^{T}(Fu) = Fu \cdot Fu = |v|^{2} \ge 0$$

$$s_{0} \quad C = F^{T}F \quad is powint$$

$$Lut's \quad cluech the addividuess$$

$$u \cdot Cu \cdot 0 \quad is \quad u = 0 \quad necessarily or not$$

$$v \cdot Cu = 0 \quad f \Rightarrow \quad v = Fu = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad v = Fu = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow u = 0 \quad f \Rightarrow \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

$$f \Rightarrow \quad u = 0$$

$$f \Rightarrow \quad u = 0 \quad u = 0$$

root, then enly 3 is chosen

Theorem 112 (Polar Decomposition Theorem) Let  $\mathbf{F} \in \text{Inv } \mathcal{V}$ . Then  $\exists$  a unique pair of tensors  $\mathbf{U}, \mathbf{V} \in \text{Psym}$  and a unique  $\mathbf{R} \in \text{Orth } \mathcal{V} \ni$ 

$$\mathbf{F} = \mathbf{R}\mathbf{U} = \mathbf{V}\mathbf{R}.$$

Moreover, det  $\mathbf{R} = +1$  or det  $\mathbf{R} = -1$ , depending as det  $\mathbf{F} > 0$  or < 0.



$$F = RU \qquad \text{chot} \quad \text{would} \quad R \geq U \text{ be } ?$$

$$f^{t}H \text{ operal} \qquad U > 0 \\ \text{twn sorr} \qquad 2 \text{ cym} \qquad F^{t}F = (RU)^{t}RU = (U^{t}R^{t})(RU) = U^{t}(R^{t}R)U = U^{t}IU$$

$$i R \text{ is } \text{ orthogonal} \qquad I$$

$$= UU = UV = U^{T} \qquad I$$

U is sym

we just showed

2nd part 
$$F = VR$$
  $V = VR^{-1}$ ,  $F = RU = 3$   
 $V = FR^{-1}$ ,  $F = RU = 3$   
 $V = RUR^{-1} = RUR^{-1}$  (R is ofthogonal)  
snow i)  $V$  is sym  
 $2 ij V$  is pos

Finally I want to show  

$$V = FF^{t}$$

$$V = RUR^{t} \implies V^{2} = (RUR^{t})(RUR^{t}) =$$

$$RU(R^{t}R)UR^{t} = RUIUR^{t} = RU^{2}R^{t} = FU^{2}(U^{2})(FU^{1})^{t}$$

$$= FU^{2}U^{2}U^{t}F^{t} = FU^{2}U^{2}U^{2}F^{t} = FF^{t}$$

$$J:sym$$

$$F = RU$$

$$but F = (bd(R)(bd(U))$$

$$\geq 0$$

$$if bd(F > 0) \implies bd(R > 0) = bd(R = 1 \quad rotal:$$

$$bd(F < 0) \implies bd(R < 0) = bd(R = 1 \quad rotal:$$

$$rotal: plus$$

$$FRU$$

SUMMORY  
F is given  

$$-F = RU = VR$$
  
 $\cdot U = \Gamma C$ ,  $C = F^{\dagger}F$   
 $\cdot V = \sqrt{B}$ ,  $B = FF^{\dagger}$   
 $R = FU^{-1} = V^{-1}F$  is orthogonal  
 $-\frac{104}{100}F^{-1}O^{-1$ 

(5